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If the initial volume is 0.5 L, calculate the work done and the change in internal energy. 
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For an ideal gas, which of the following statements is FALSE:

In a constant volume process, the work done by the gas is =zero.
In an adiabatic process, no heat enters or leaves the system.
In an isothermal process, the work done is equal to heat energy.
In an isothexrmal process, there is no change in the internal
enexgy.

In any c¢yclic process, the worKk done by the gas is zero.




[image: image11.emf]
[image: image12.emf]
[image: image20.png]P (atm)

- Isothenmal

iy



.                                                                                          .

[image: image13.emf]
[image: image14.emf]
[image: image15.emf]
[image: image16.emf][image: image17.emf] 


[image: image18.emf]
[image: image19.emf]
